

Date	9/5/2023	
Estimate #		
Fatimata	George Severe	N DE
Estimate	george@defendersupply.c	TEST
Бу	903-771-0845	

	Bill To	
Williamson Co TX SO 710 S Main Street Ste 301		
Georgetown, Tx 78626		

Customer Contact	Mark Stevens
Customer Phone	512-943-3373
Customer E-mail	mark.stevens@wilco.org

2023 Chevrolet Tahoe 9C1 Vehicle Base Color - Black			
Description	Qty	Price	Total
All Parts are for 2023 Chevrolet Tahoe 9C1's			
Was Estimate # Amount was \$25,810.00 & is now \$29,400.00 - Light Bar Patrol Units -			
Vin # CS- Vin # CS- Vin # CS- Vin # CS- Vin # CS-			
Customer PO # Payment to be made to Defender Supply - Each Unit is \$29,400.00 each times Five = \$147,000.00 Total			
Williamson Co TX SO - WO # - Work Order			
Emergency Equipment is Purchased Through Defender Supply using The Tarrant County Cooperative Contract # 2022-200			
Defender Supply Driver Side Spot Light with LED Bulb for 2021+ Chevrolet Tahoe 9C1 & SSV. Includes Installation.	5	570.00	2,850.00

Final sale amount may be subject to state and local sales tax. PLEASE NOTE: Once this estimate has been approved, either by signature on this form, written approval referencing the estimate number or the issuance of purchase order, any changes or cancellations of parts made by the customer are subject to a 25% restocking fee. Any additional customer-requested parts/services will be added to the total amount of the sale.

** All customer supplied equipment is assumed to be either brand new in box or bench tested and fully functional with all necessary vehicle specific cables and brackets troubleshooting and/or repairing inoperable or incomplete customer supplied equipment will be subject to our normal labor rate of \$125/hour **

Vehicle & Emergency Equipment Total



Date	9/5/2023		
Estimate #			
Estimate By	George Severe		
	george@defendersupply.c		
	903-771-0845		



	Bill To	
Williamson Co TX SO		
710 S Main Street Ste 301		
Georgetown, Tx 78626		

Customer Contact	Mark Stevens	
Customer Phone	512-943-3373	
Customer E-mail	mark.stevens@wilco.org	

2023 Chevrolet Tahoe 9C1 Vehicle Base Co	olor - Black		
Description	Qty	Price	Total
Defender Supply TAHOE Marked Patrol Base Package		11,019.35	55,096 . 75
- Federal Signal 51" Valor " V-Shape" Dual Color Lightbar with Traffic Advisor and Full Across Take Down/Alley Lighting, Prog Flash Patterns with Slide Switch, Cruise, Low Power (R/W, B/V Side, R/A, B/A Rear) with Hook Kit.	ressing		
 Federal Signal Pathfinder with 17-Button Controller, Output Exmodule, OBDII Kit, 100 Watt Speaker and Bracket. Wired and Programmed to Defender Supply Standard. 	xpansion		
- Steel Push Bumper with Textured Coating and 6 Tri Color Sup Light Heads (R/B/W), 4 in the Top Channel Cutouts and 1 on E with 45° Brackets. Take Down, Alley Lighting, Progressing Flas Patterns with Slide Switch, Cruise and Low Power Capabilities.	ach Side		
- 2 Tri Color Super LED Light Heads (R/B/W) Mounted on Rear Plate Bracket. Reverse / Brake Lighting, Progressing Flash Pat Slide Switch, Cruise and Low Power Capabilities.			
- 1 Front Cabin and 2 Hatch Dome Lights.			
- Contoured Police Console With Dual Cup Holder, Arm Rest a Magnetic Mic Clips. One Additional Power Outlet on the Passe			
- Defender Supply Wiring Harnesses, Power Distribution Block Battery Management System.	and		
- Includes Installation.			
Defender Supply Low Frequency Siren Package for Pathfinder. Amp, 2 Subwoofer Speakers, Brackets. Includes Installation.	. Inc l udes	1,388.75	6,943.75

Final sale amount may be subject to state and local sales tax. PLEASE NOTE: Once this estimate has been approved, either by signature on this form, written approval referencing the estimate number or the issuance of purchase order, any changes or cancellations of parts made by the customer are subject to a 25% restocking fee. Any additional customer-requested parts/services will be added to the total amount of the sale.

** All customer supplied equipment is assumed to be either brand new in box or bench tested and fully functional with all necessary vehicle specific cables and brackets troubleshooting and/or repairing inoperable or incomplete customer supplied equipment will be subject to our normal labor rate of \$125/hour **

Vehicle & Emergency Equipment Total



Date	9/5/2023		
Estimate #			
Estimate	George Severe		
	george@defendersupply.c		
Ву	903-771-0845		



	Bill To	
Williamson Co TX SO 710 S Main Street Ste 301 Georgetown, Tx 78626		

Customer Contact	Mark Stevens	
Customer Phone	512-943-3373	
Customer E-mail	mark.stevens@wilco.org	

2023 Chevrolet Tahoe 9C1	Vehicle Base Color - Black			
Description		Qty	Price	Total
Defender Supply TAHOE Steel Heavy Duty Bo Wraps for Federal Signal PBX Series Push Bu and Installation.		5	457.50	2,287.50
Defender Supply TAHOE Steel Textured Coating Heavy Duty Bolt-on Brush Guard Wing Wraps. Includes Shipping and Installation.		5	486.00	2,430.00
Defender Supply TAHOE Steel Heavy Duty Bolt-on Pit Bar for Federal Signal PBX Series Push Bumper. Includes Shipping and Installation.		5	845.00	4,225.00
Defender Supply Running Board Lighting - Ind Super LED Light Heads (8x R/W/B), 4 on Each Progressing Flash Patterns with Slide Switch, A Cruise Functions Available (Pathfinder Only). I (Four per Side - Driver Side - Front to Back is I Lights to Function as Alley Lights when Activate (Four per Side - Passenger Side - Front to Back White Lights to Function as Alley Lights when	Running Board. Alley, Low Power and includes Installation. RW/BW/RW/BW) & White e	5	1,850.00	9,250.00
White Lights to Function as Alley Lights when Activate Defender Supply Rear Side Window Lighting Package - Includes Two Tri Color Super LED Light Heads (R/B/W) Mounted 1 on Each Rear Side Window Top. Progressing Flash Patterns with Slide Switch, Alley, Low Power and Cruise Functions Available (Pathfinder Only). Includes Installation.		5	574.50	2,872.50
Defender Supply Under Hatch Lighting Package -Includes 2, Super LED Light Heads (R/B), Mounted Horizontally Under The Hatch on Each Corner, Rear Facing When Open. Progressing Flash Patterns with Slide Switch, Cruise, Tail/Brake Functions Available (Pathfinder Only). Includes Installation.		5	475.00	2,375.00
No Rear Light Stick per Customer				

Final sale amount may be subject to state and local sales tax, PLEASE NOTE: Once this estimate has been approved, either by signature on this form, written approval referencing the estimate number or the issuance of purchase order, any changes or cancellations of parts made by the customer are subject to a 25% restocking fee. Any additional customer-requested parts/services will be added to the total amount of the sale.

** All customer supplied equipment is assumed to be either brand new in box or bench tested and fully functional with all necessary vehicle specific cables and brackets — troubleshooting and/or repairing inoperable or incomplete customer supplied equipment will be subject to our normal labor rate of \$125/hour **

Vehicle & Emergency Equipment Total



Date	9/5/2023			
Estimate #				
Fatimata	George Severe			
Estimate By	george@defendersupply.c			
	903-771-0845			



Bill To	
	Bill To

Customer Contact	Mark Stevens
Customer Phone	512-943-3373
Customer E-mail	mark.stevens@wilco.org

2023 Chevrolet Tahoe 9C1 Vehicle Base Color - Black	2023 Chevrolet Tahoe 9C1 Vehicle Base Color - Black				
Description	Qty	Price	Total		
Defender Supply TAHOE Prisoner Partition with Full Across Poly Window with Center Slider, Recessed Center and Lower Kick Panels. Includes Shipping and Installation.	5	998.75	4,993.75		
Defender Supply Surface Mount Dual Weapon Universal Cuff Lock with 8 Second Timer, Switch, Defender Supply Gunlock Wire Harness. Includes Installation.	5	568.75	2,843.75		
Defender Supply TAHOE Cargo Barrier with Mesh Window, Plastic Prisoner Seat with Center Pull Seat Belt System. Includes Shipping and Installation.	5	1,737.50	8,687.50		
Defender Supply TAHOE Steel Window Guards . Includes Shipping and Installation.	5	407.50	2,037.50		
Defender Supply TAHOE Prisoner Door Panels. Includes Shipping and Installation.	5	406.25	2,031.25		
Defender Supply Rear Seat Dome Light - Includes (2) Two 3" Round Red/White Dome Lights Mounted Over Rear Driver and Passenger Side Seat with Independent Switches Mounted on the C-pillar for each Coresponding Side. Includes Installation.	5	329.50	1,647.50		
Havis Docking Station with Dual Pass-Through Antenna connection for Panasonic Toughbook 33, 2-in-1 Laptop with Power Supply	5	1,122.50	5,612.50		
Defender Supply Computer Mount; Console. Includes Installation.	5	472.00	2,360.00		
Havis 2 Inch Blank Faceplates Havis 1-Piece Equipment Mounting Bracket, 4' Mounting Space, Fits Federal Signal Smart Siren SSP3000	5 5	0.00 0.00	0.00 0.00		
Havis 2.5' Console Equipment Bracket for 1-Piece Motorola XTL-1500 Havis Equipment Bracket for Panasonic Arbitrator - ARB-WJ-VR30 Havis Faceplate 1-Piece Equipment Mounting Bracket, 3.5' Mounting Space, Fits Misc. Carson SC-409	5 5 5	0.00 0.00 0.00	0.00 0.00 0.00		

Final sale amount may be subject to state and local sales tax. PLEASE NOTE: Once this estimate has been approved, either by signature on this form, written approval referencing the estimate number or the issuance of purchase order, any changes or cancellations of parts made by the customer are subject to a 25% restocking fee. Any additional customer-requested parts/services will be added to the total amount of the sale.

** All customer supplied equipment is assumed to be either brand new in box or bench tested and fully functional with all necessary vehicle specific cables and brackets — troubleshooting and/or repairing inoperable or incomplete customer supplied equipment will be subject to our normal labor rate of \$125/hour **

Vehicle & Emergency Equipment Total



Date	9/5/2023			
Estimate #				
Fatimete	George Severe			
Estimate	george@defendersupply.c			
Ву	903-771-0845	CO STATE		



Customer Contact	Mark Stevens	
Customer Phone	512-943-3373	
Customer E-mail	mark.stevens@wilco.org	

2023 Chevrolet Tahoe 9C1 Vehicle Base Color - Black			
Description	Qty	Price	Total
Streamlight SI-20L Nimh Flashlight & a Stinger DS LED - 12V DC Steady Charge - Includes Installation - Both Mounted on Sides of Console.	5	572.50	2,862.50
Defender Supply Rear Hatch Dome Light - Includes 2, 3' Round Red/White Dome Lights Mounted On Rear Hatch, 1 On Each Side, Switch, Defender Supply Dome Wire Harness. Includes Installation.	5	308.00	1,540.00
Customer Supplied Radio Information:		0.00	0.00
Police Radio Make & Model: Motorola APX7500/DB/Dash Mount O5 Control head 1 or 2 Piece Radio Unit: One Piece Control Head Info: 05 Frequency Used: 800Mhz & VHF Does the Customer Supplied Police Radio need to be "Hot", Powered all the time or on Ignition - On Ignition Note: Customer does NOT wish to have the radio rebroadcast feature WilCo will install the radios in all of our units in house. Defender only needs to install the antennas, radio speakers, battery lead wire, and ignition lead wire to the console. Pre-Wire to Console for Radio Power, Ground & Roof Antenna. Tahoe Roof Antenna Placement 800 MhZ Antenna – Roof mounted between B-C pillars VHF Antenna – Roof mounted between B-C pillars Bluetooth Antenna roof mounted on pass. side between A-B pillars Panasonic Arbitrator Antenna - Mounted between the A-B pillars. Multi Purpose GPS Cradlepoint Antenna - Mount between the C-D pillars. Defender Supply Two-Way (800) Radio Antenna and Coaxial Cable. Includes Installation.	5	182.00	910.00

Final sale amount may be subject to state and local sales tax. PLEASE NOTE: Once this estimate has been approved, either by signature on this form, written approval referencing the estimate number or the issuance of purchase order, any changes or cancellations of parts made by the customer are subject to a 25% restocking fee. Any additional customer-requested parts/services will be added to the total amount of the sale.

** All customer supplied equipment is assumed to be either brand new in box or bench tested and fully functional with all necessary vehicle specific cables and brackets troubleshooting and/or repairing inoperable or incomplete customer supplied equipment will be subject to our normal labor rate of \$125/hour **

Vehicle & Emergency Equipment Total



Date	9/5/2023		
Estimate #			
	George Severe		
Estimate	george@defendersupply.c		
Ву	903-771-0845		



	Bill To	
Williamson Co TX SO 710 S Main Street Ste 301 Georgetown, Tx 78626		

Customer Contact	Mark Stevens	
Customer Phone	512-943-3373	
Customer E-mail	mark.stevens@wilco.org	

2023 Chevrolet Tahoe 9C1 Vehicle Base Color - Black			
Description	Qty	Price	Total
Defender Supply Two-Way (VHF) Radio Antenna and Coaxial Cable. Includes Installation.	5	140.00	700.00
Motorola 13-Watt Police Radio Speaker with Mounting Bracket - Mounted in Console	5	92.95	464.75
Defender Supply TAHOE Premium Single Drawer Storage Box. Includes Shipping and Installation.	5	1,845.00	9,225.00
No Tint, Paint or Graphics on these Units.			
Wash and Prepare Vehicle for Delivery to Customer	5	100.00	500.00
Misc. Shop Supplies	5	30.00	150.00
Shipping of Above Emergency Parts for Upfit	5	150.00	750.00
Defender Supply Custom Made Vehicle Wiring Harness, Power Distribution Module & Blue Sea Battery Management System Designed for Heavy Duty Use	5	743,20	3,716.00

Final sale amount may be subject to state and local sales tax. PLEASE NOTE: Once this estimate has been approved, either by signature on this form, written approval referencing the estimate number or the issuance of purchase order, any changes or cancellations of parts made by the customer are subject to a 25% restocking fee. Any additional customer-requested parts/services will be added to the total amount of the sale.

** All customer supplied equipment is assumed to be either brand new in box or bench tested and fully functional with all necessary vehicle specific cables and brackets troubleshooting and/or repairing inoperable or incomplete customer supplied equipment will be subject to our normal labor rate of \$125/hour **

Vehicle & Emergency Equipment Total



Date	9/5/2023		
Estimate #			
Estimate By	George Severe		
	george@defendersupply.c		
Бу	903-771-0845		



	Bill To	
Williamson Co TX SO 710 S Main Street Ste 301 Georgetown, Tx 78626		

Customer Contact	Mark Stevens
Customer Phone	512-943-3373
Customer E-mail	mark.stevens@wilco.org

	2023 Chevrolet Tahoe 9C1	Vehicle Base Color - Black			
	Description		Qty	Price	Total
Installation of Customer Supplied Equipment: Panasonic Arbitrator 360 Blue CAT6 Cable - CP to Dock White CAT6 Cable- VPU (PC PORT) to Dock Radio Power & Ground Mobile Power (HKN4191B) - Pre Wire Radio Accessory Cable & Ignition Power (HLN6863B) - Pre Wire Tech Note: The Lighting Program was supplied to Defender Supply by		27.5	125,00	3,437.50	
Marc Cou This prog techs on Please fla	urville @ Federal Signal & Approved ram is the only Program that can be all units. Light Sequence is Red/Redash Headlights & Tail Lights.	by Williamson County - used & must be used by all			
Please flash Headlights & Tail Lights. Tech: Please used Loc-tite on all Brush Guard Bolts					
For Customer Supplied Parts, Tech Support or Panasonic Camera Assistance contact:					
Williamson Office – (Fax – (51	t fety Systems Administrator on County ITS 512) 943-1481 2) 943-1474 t@wilco.org				
Delivery t	o Department		5	840,00	4,200.00

Final sale amount may be subject to state and local sales tax. PLEASE NOTE: Once this estimate has been approved, either by signature on this form, written approval referencing the estimate number or the issuance of purchase order, any changes or cancellations of parts made by the customer are subject to a 25% restocking fee. Any additional customer-requested parts/services will be added to the total amount of the sale.

** All customer supplied equipment is assumed to be either brand new in box or bench tested and fully functional with all necessary vehicle specific cables and brackets — troubleshooting and/or repairing inoperable or incomplete customer supplied equipment will be subject to our normal labor rate of \$125/hour **

Vehicle & Emergency Equipment Total



Oct 24, 2023



Date	9/5/2023
Estimate #	
Estimate	George Severe
	george@defendersupply.c
Ву	903-771-0845



Williamson Co TX SO	
710 S Main Street Ste 301	
Georgetown, Tx 78626	

Customer Contact	Mark Stevens
Customer Phone	512-943-3373
Customer E-mail	mark.stevens@wilco.org

	2023 Chevrolet Tahoe 9C1	Vehicle Base Color - Black			
	Description		Qty	Price	Total
Fleet Mai 3151 SE 508 Sout Georgeto 512-943- Call 30 m paul.best Williamso Parts Williamso I am bein supplied so we cal supplying Panason Blue CAT White CA Radio Po Radio Ac Please sh Defender 845 FM 4 Argyle, T	ehicles to: Intenance Inner Loop-Suite B In Rock Street Inner Loop-Suite B Inner Loop-Suit	esting Customer Supplied to have your customer rk the box(s) with "WO # " rectly. I show you are	Qty	Price	Total
Thanks, 0	,				

Final sale amount may be subject to state and local sales tax. PLEASE NOTE: Once this estimate has been approved, either by signature on this form, written approval referencing the estimate number or the issuance of purchase order, any changes or cancellations of parts made by the customer are subject to a 25% restocking fee. Any additional customer-requested parts/services will be added to the total amount of the sale.

** All customer supplied equipment is assumed to be either brand new in box or bench tested and fully functional with all necessary vehicle specific cables and brackets — troubleshooting and/or repairing inoperable or incomplete customer supplied equipment will be subject to our normal labor rate of \$125/hour **

Vehicle & Emergency Equipment Total



Oct 24, 2023



Date	9/5/2023	
Estimate #		
Fatimata	George Severe	N JE
Estimate Bv	george@defendersupply.c	THE STATE OF
Бу	903-771-0845	

	Bill To	
Williamson Co TX SO 710 S Main Street Ste 301 Georgetown, Tx 78626		

Customer Contact	Mark Stevens
Customer Phone	512-943-3373
Customer E-mail	mark.stevens@wilco.org

2023 Chevrolet Tahoe 9C1	Vehicle Base Color - Black			
Description		Qty	Price	Total
First also assess to a blood to state and to a				

Final sale amount may be subject to state and local sales tax. PLEASE NOTE: Once this estimate has been approved, either by signature on this form, written approval referencing the estimate number or the issuance of purchase order, any changes or cancellations of parts made by the customer are subject to a 25% restocking fee. Any additional customer-requested parts/services will be added to the total amount of the sale.

** All customer supplied equipment is assumed to be either brand new in box or bench tested and fully functional with all necessary vehicle specific cables and brackets — troubleshooting and/or repairing inoperable or incomplete customer supplied equipment will be subject to our normal labor rate of \$125/hour **

Vehicle & Emergency Equipment Total \$147,000.00

Signature Bill Gravell (Oct 24, 2023 10:31 CDT)

Oct 24, 2023